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(e) Draw the full solution to the problem here.
 Include construction details and important dimensions.        [12]
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There is no need to write or draw here unless you wish to continue
part of a question. The question number(s) must be clearly shown.

Answer Sheet 2 of 2 continued
© UCLES 2020

(f) Answer part (f) here.      [4]

 1. Material  ......................................................................................................................................................................................................

  Reason  .......................................................................................................................................................................................................

   .....................................................................................................................................................................................................................

 2. Material  ......................................................................................................................................................................................................

  Reason  .......................................................................................................................................................................................................

   .....................................................................................................................................................................................................................

(g) Answer part (g) here.      [6]


